sinx - sin15x*cosx = 3/2
sinx - sin15x*cosx=

=V (1+sin*2(15x))[sinx*1/V(1+sin”2(15x))+cosx*-
-sin15x/V(1+sin”2(15x)]=V(1+sin*2(15x))[sinx*cost+

+cosx”sint]=V(1+sin*2(15x))sin(x+t)
V(1+sin?2(15x))sin(x+t)!=3/2
PelleHna HeTt

TK neBasi 4YacTb MaK paBHa V2, a np 1,5=> oHU He

pPaBHbI
cost=1/V(1+sin*2(15x)
sint=-sin15x/V(1+sin*2(15x)
noackaska

Asinx +Bcosx = 3/2

A=1 B=-sin15x
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_ sin3x - 2sin18x*sinx = 3V2 - cos3x + 2cosx

sin3x+co0s3x=3V2+2sin18x*sinx+2cosx

V2[sin3x*1/V2+cos3x*1/V2]=V2[sin3x*cosP/4+cos3x*sinP/4]=V2sin(3x+P/4)

cost=1/V2
sint=1/V2
t=P/4

2sin18x*sinx+2cosx=V(4+4sin*2(18x))[sinx*2sin18x/V(4+4sin*2(18x))+cosx*2/V(4+4sin"*2(18x))]=
=V(4+4sin"2(18x))[sinx*cost+cosx*sint]=V(4+4sin*2(18x))sin(x+t)

cost=2sin18x/V(4+4sin*2(18x))
sint=2/V(4+4sin*2(18))

V2sin(3x+P/4)=3V2+V(4+4sin"2(18x))sin(x+t)
V2sin(3x+P/4)=3V2+2V(1+sin"2(18x))sin(x+t)
OueHKka neBon YacTu

-1<=sin(3x+P/4)<=1 [*V2
V/2<=V/2sin(3x+P/4)<=V2

OueHka npaBomn YacTtu

-1<=sin(18x)<=1

0<=sin"2(18x)<=1]| +1

1<=sin*2(18x)+1<=2 | V
1<=V(sin*2(18x)+1)<=V2 |*2
2<=2V(sin*2(18x)+1)<=2V2

-1<=sin(x+t)<=1
2V2>=2V/(sin*2(18x)+1)sin(x+t)>=-2V2 |+3V2
V2<=2V(sin?*2(18x)+1)sin(x+t)+3V2<=5V2

V2sin(3x+P/4)=V2
sin(3x+P/4)=1
3x+P/4=P/2+2Pk
x=P/6+2Pk/3-P/12
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MpoBepsiem 3 HaNAeHHbIe TOYKM B NP YacTn
x=P/12
3V2+2sin(18P/12)*sinP/12+2cosP/12=
=3V2+2sin3P/2*sinP/12+2cosP/12=
=3V2-2sinP/12+2cosP/12
2cosP/12-2sinP/12=V8[cosP/12*2/V8-sinP/12*2/V8]= =V8[cosP/12*sinP/4-sinP/12*cosP/4]=V8sin(P/4-P/12)=V8sinP/6
cost=2/V8=1/V2=V2/2

sint=2/V8=1/V2=V2/2

t=P/4

V8sinP/6=2V2/2=V2

Mp yacTtb paBHa 4V2 => x=P/12-He nogxoanTt
x=3P/4

3V2+2sin54P/4*sin3P/4+2cos3P/4=
=3V2+V2sin27P/2-V2=V2sin27P/2+2V2=
=V2sin3P/2+2V2=-V2+2V2=V2

x=17P/12
3V2+2sin(3*17P/2)*sin17P/12+2cos17P/12=
=3V2+2sin3P/2*sin17P/12+2cos17P/12=
3V2-2sin17P/12+2cos17P/12
2cos17P/12-2sin17P/12=V/8[cos17P/12*2/V/8-
-sin17P/12*2/\/8]=V8[cos17P/12*sint-sin17P/12*
=V8sin(17P/12-P/4)=V8sin(14P/12)=V8sin(7P/6):
=-V8/2=-V2

t=P/4

-V2+3V2=2V?2
[1p yacTb paBHa 2V2=> x=17P/12- He nogxoauT

Ot1BeT:3P/4+2Pk



